ACT Prac b Name

Please show all work in the space provided. The actual math portion consists of 60 questions in 60 mins.

1. What iz the degrse measurs of the acurs angle formad by the
hands of 2 12-hour clock thar reads sxacdy 1 o'clock?
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2. What is ths probability that a number sslectad at random
from the ser {2, 3,7, 12, 15, 22, 72, 108) will be divisible
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3. A circle has a circumference of 16T feer, Whiar is the radivs
of the circls, in foet™
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4, A rectangle with a perimeter of 30 centimetsrs is twics as
long as it iz wids. What is the area of the ractangle in square
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5 In the standard (x) coordinate plans, what ars the
coordinatez of the midpoint of a line segment whoss
endpoints are (-3,0) and (7.4} 7
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6. Which of the following statements must be rus whensver S (4/ e Eylg G 4
a, b, and ¢ ars positivs integers such that n< g, ¢ = g, and : ﬁ?ﬂ
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A, a=an
( B) t-nra-un

Whar iz the differance between 1.8 and 1.08 7
7. (Wobe: & bar indicates a digit partern thas is repeated. )
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Which of the following squations represents the near
8. relarionship berwsan tims, 7, and velocity, v, shown in the
2 below? -—
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9, Anindustridl cleanser is manufacturad using only the 3 sacrset
ingredisnrs A, B, and C, which are mixed in the ratio of

- SER S reepectvely] by wdighe Frowy many potnds 6 seceat
ingradisnt B ars in a 42-pound (nar weight) buckst of this
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